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1If 52x= 15625, find x2. * 1 point

@ 9
(O 2
()3

O Non of the above

2)If 137 x = 4913, find the value of 227x-1. * 1 point

() 39
@ 32
() 40
() 16

3)5°2x-2=625, find x * 1 point



4)(13)°3.5x (11)? =118 * 1 point

() 38
() 4
@ 45
() s

5)Given that 1070.48 = x, 1070.10 = y and x"2 = y“2, then the value of 2 is close to: * 1 point

(O 17
() 35
@ 29
() 46

6)If 5°a = 3125, then the value of 57(a - 3) is: * 1 point

() 20
() 888
@® 25
() 255



BIF37(x -y) = 21 and 3"(x + y) = 243, then x is equal fo: * 1 point

8)(256)70.16 x (256)°0.09 = ? * 1 point

9)The value of [(10)7150 + (10)"146] * 1 point
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10) (25)"%.5x (5)°2.5 + (125)1.5 = 52 *

() 10
@ 13
() 16
() 50

11)(0.04)"-15="2*

120
125

123

OO0 ® O

12

12)Evaluate 1000°% /1071y = 2 *

() 10
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@ 107
) 2

1 point

1 point

1 point



1BI4°3/2+4-"3/2=2* 1 point

() 65/9
@® 65/8
() 89/8
() 56

14)(256)70.16 x (256)70.09 = ? * 1 point

15)The value of (v8)1/3 is: * 1 point



16)f V2n =64, then the value of n is: * 1 point

12

16

O 0O ® O

26

1%)If a and b are whole numbers such that ab = 121, then find the value of (a-1)"b+1* 1 point

10M

102

@ O O

103

18)(6)76.5 x (36)74.5 + (216)°u.5 = (6)? * 1 point

() 4
@ o6
() 12
O 2



19)10°222 + 107220=7 *

20)65610.14 x 65610.11 = ? *

1 point

1 point

AFTER SUBMITTING THE TEST, PLEASE CHECK YOUR PROVIDED EMAIL TO VIEW YOUR SCORE AND RESPONSE
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